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Question Number : 1 Question Id : 3210112126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following pairs are both the diseases of viral origin?

Options:
, w» Malaria and dengue

> « Swine flu and AIDS

- u Ringworm and SARS

, % Typhoid and tuberculosis

Question Number : 1 Question Id : 3210112126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 2 Question Id : 3210112127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 2 Question Id : 3210112127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following diseases is caused by a protozoal parasite in human beings?

Options:
, = Leprosy

> ® HIV
3 « Amoebiasis

4 % Influenza

Question Number : 3 Question Id : 3210112128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following cells are the main targets of HIV?

Options:
1 « CD4 cells

> % CDI2cells

3 % B cells

4 % RBCs

Question Number : 3 Question Id : 3210112128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 4 Question Id : 3210112129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TAB vaccine is used against:

Options:
1 & tetanus

> w diphtheria

5 % pertussis

4 « typhoid

Question Number : 4 Question Id : 3210112129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 5 Question Id : 3210112130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a sexually transmitted bacterial disease?

Options:
1. ® AIDS

o o Syphilis



- w Hepatitis

4 % GQGoitre

Question Number : 5 Question Id : 3210112130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 6 Question Id : 3210112131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Swine Flu is caused by:

Options:
1 & HIV

> « HIN1
s % HBV

4% Mumps virus

Question Number : 6 Question Id : 3210112131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question Id : 3210112132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Excessive bleeding from an injury is due to the deficiency of:

Options:
1 % Vitamin A

- % Vitamin E
%z % Vitamin C

4 « Vitamin K

Question Number : 7 Question Id : 3210112132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 8 Question Id : 3210112133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following diseases is caused by Mycobacterium species?

Options:
1« Tuberculosis

- % Measles

- » Small pox



4 % AIDS

Question Number : 8 Question Id : 3210112133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 3210112134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Incubation period for typhoid is:

Options:

. » 7days

14 days
28 days

36 days

Question Number : 9 Question Id : 3210112134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 3210112135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 3210112135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Diseases of the heart, joints and nervous system are called:

Options:
1 % communicable diseases.

- o degenerative diseases

5 w deficiency diseases

4 % inherited disease

Question Number : 11 Question Id : 3210112136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT used in cancer treatment?

Options:
, = Radiation therapy

5 % Surgery

- % lmmunotherapy



4 « Vaccination

Question Number : 11 Question Id : 3210112136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

=T # ¥ g 3999 F857 F 39= # J8 &7 3mar 27

Options:

Question Number : 12 Question Id : 3210112137 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Blood cancer is also known as:
Options:

, w lymphoma

> « leukaemia
= % osteoma

4 % tumour

Question Number : 12 Question Id : 3210112137 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

=I5 8T T g vF 3R F7 T o F=r | 22

Options:



4 8 =

Question Number : 13 Question Id : 3210112138 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the followings is a water-borne disease?
Options:

, w Chicken pox

> « Cholera
z % Malaria

4 % HIV

Question Number : 13 Question Id : 3210112138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 14 Question Id : 3210112139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Scurvy is caused due to the deficiency of which of the following vitamins?

Options:
1 % Retinol
> « Ascorbic acid

= % Calcitriol

, % Naphthoquinone



Question Number : 14 Question Id : 3210112139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 15 Question Id : 3210112140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The natural pacemaker of the human heart is:

Options:
1 % AV node

- % bundle of His

- u Purkinje fibres

4 + SAnode

Question Number : 15 Question Id : 3210112140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 3210112141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What are the malignant tumours of connective tissue origin known as?

Options:
1 % Carcinomas

o« Sarcomas
= % Osteomas

4 % Fibromas

Question Number : 16 Question Id : 3210112141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 17 Question Id : 3210112142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following devices is used to record the electrical activity of human brain?

Options:
. % ECG

s % EMG

4 % EOG

Question Number : 17 Question Id : 3210112142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 3210112143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following discovered molecular structure of DNA?

Options:
, % Singer and Nicholson

- u John Gregor Mendel

= « Watson and Crick

4 % Charles Darwin

Question Number : 18 Question Id : 3210112143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 19 Question Id : 3210112144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following hormones is released by the adrenal gland?

Options:
{ % ADH

-~ % TSH
= % Calcitonin

4 « Cortisol

Question Number : 19 Question Id : 3210112144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 20 Question Id : 3210112145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Trachoma and Glaucoma are the diseases of which of the following human organs?

Options:
i ® Nose

o B Ear
5 v Eye

4 % Throat

Question Number : 20 Question Id : 3210112145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 21 Question Id : 3210112146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT an essential component of the medical case history of a patient?

Options:
1 % Habits

> % Drug history

= « Hobbies

4 % Past medical history

Question Number : 21 Question Id : 3210112146 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 22 Question Id : 3210112147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a Subjective component of the medical case history of a patient?
Options:

, w Blood pressure



-  Chief complaint

- » Height

4 w Weight

Question Number : 22 Question Id : 3210112147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 23 Question Id : 3210112148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Vital signs belong to which component in a case history?

Options:
, w» Subjective

5 o Objective

= % Assessment

4 % Plan

Question Number : 23 Question Id : 3210112148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
O BEY F AgcaqUr T W gew ¥ HafUd gar 87

Options:
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Question Number : 24 Question Id : 3210112149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a vital sign?

Options:
1 % Pain

> # Swelling

% « Pulse rate

4 % Infection

Question Number : 24 Question Id : 3210112149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 3210112150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The inflammation of joints in the human skeletal system is known as:
Options:

1 % rhinitis



5 w conjunctivitis
= % uveitis

4« arthritis

Question Number : 25 Question Id : 3210112150 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 26 Question Id : 3210112151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
History of the present illness belongs to which of the following components of a medical case history?

Options:
| « Subjective

> u Objective

= % Assessment

4 % Plan

Question Number : 26 Question Id : 3210112151 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 27 Question Id : 3210112152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Drug history and allergies belong to which component of a medical case history?
Options:

, « Subjective

5 u Objective

= % Assessment

4 % Plan

Question Number : 27 Question Id : 3210112152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Zar favor i ot v RfeEe 77 BE & BE ues ¥ metag 87
Options:

| v TP

4 % 39TF

Question Number : 28 Question Id : 3210112153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
During the medical examination of a patient, the ‘Auscultation’ procedure is performed using which of the following
devices?
Options:
1 % Thermometer



o  Stethoscope

= % Knee hammer

4 % Ammeter

Question Number : 28 Question Id : 3210112153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 29 Question Id : 3210112154 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

F=fa@a 7 @ w7 v Rftcedy 7 BT 71 = 337 uew 27

Options:
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Question Number : 29 Question Id : 3210112154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is an Objective component of a medical case history?
Options:

1 % Pain



> u Chief complaint

-  Physical examination

, = Differential diagnosis

Question Number : 30 Question Id : 3210112155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The aetiology and risk factors of a disease belong to which component of medical records?

Options:
1« Assessment

> % Plan
- u Objective

4 ® Subjective

Question Number : 30 Question Id : 3210112155 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 31 Question Id : 3210112156 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

With reference to inflammation. what is the meaning of the word ‘Calor’?
Options:

, + Increased temperature



5 ® Decreased temperature

= % Pain

4 w Swelling

Question Number : 31 Question Id : 3210112156 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 32 Question Id : 3210112157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The method of assessing reflexes using a knee hammer is known as:

Options:
, = Inspection

> % palpation

o  Percussion

4 % auscultation

Question Number : 32 Question Id : 3210112157 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 33 Question Id : 3210112158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The method of touching and examining an affected part of the body to arrive at a provisional diagnosis is known as:

Options:
1 % auscultation

- % percussion
5 % inspection

4 « Dalpation

Question Number : 33 Question Id : 3210112158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 34 Question Id : 3210112159 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 34 Question Id : 3210112159 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With reference to hospital statistics, what is the meaning of the word ‘Morbidity™?

Options:
1 % Birthrate

> % Death rate

- » Rate of healthy people in a population

4 « Rate of diseased people in a population

Question Number : 35 Question Id : 3210112160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a component of the medical history of a patient?
Options:

, w Operative records

> w Family illnesses

- « Major and minor illnesses since the patient’s birth

, w Prior pregnancies

Question Number : 35 Question Id : 3210112160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 36 Question Id : 3210112161 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a component of an AMPLE history?

Options:
, w Allergies

- % Past illnesses

- « Pregnancies

4 % Last meal

Question Number : 36 Question Id : 3210112161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 37 Question Id : 3210112162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In AMPLE history, the letter A stands for which of the following?
Options:

, = Algorithm



5w Alrway

= % Auscultation

4 Allergies

Question Number : 37 Question Id : 3210112162 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 38 Question Id : 3210112163 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zika virus infection is transmitted by which of the following vectors?

Options:
, w» Female Anopheles mosquito

- % Male Anopheles mosquito

- o Aedes aegypti mosquito

, % Culex mosquito

Question Number : 38 Question Id : 3210112163 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 39 Question Id : 3210112164 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A history of prior pregnancies is included under which of the following medical records?

Options:
, » Medical history

o % AMPLE history

- o Obstetric history

4 % SOAP note

Question Number : 39 Question Id : 3210112164 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 40 Question Id : 3210112165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following drugs is safe to take during pregnancy?
Options:

, w Tetracycline



> « Paracetamol
%z #% Thalidomide

4 ® Aspirin

Question Number : 40 Question Id : 3210112165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 41 Question Id : 3210112166 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In AMPLE history, the letter L stands for which of the following?

Options:
1 « Last meal

- w Lastdrug

= # Lastevent

, » Lastbirthday

Question Number : 41 Question Id : 3210112166 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 42 Question Id : 3210112167 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A mother of a 4-year-old child tells vou that her child has not taken DPT vaccination. Under which of the following

records should this be written?
Options:
, w Obstetric history

> % Child history

-  lmmunisation history

48 Gestational history

Question Number : 42 Question Id : 3210112167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 43 Question Id : 3210112168 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 43 Question Id : 3210112168 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The system that deals with the administrative needs of a hospital is known as:
Options:

, w Hospital Assessment System

- % Hospital Innovation System

-  Hospital Information System

, » Hospital Analysis System

Question Number : 44 Question Id : 3210112169 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The branch of Hospital Information System that deals with the blood reports and urine analyses of the patients is known

as:
Options:
, w Blood Information System

-  Laboratory Information System
- » Radiology Information System

, = Haematological Information System

Question Number : 44 Question Id : 3210112169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 45 Question Id : 3210112170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The branch of Hospital Information System that deals with the X-rays of the patients is known as:
Options:

, = Laboratory Information System

- « Radiology Information System

- » Patient Information System

4 w Disease Analysis System

Question Number : 45 Question Id : 3210112170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 46 Question Id : 3210112171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



With reference to the Hospital Information System. what is the correct full form of PACS?
Options:
, w Picture Achieving Communication Systems

o  Picture Archiving Communication Systems

- w Program Achieving Communication Systems

, w Program Archiving Communication Systems

Question Number : 46 Question Id : 3210112171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 47 Question Id : 3210112172 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a Hospital Information System, which of the following is a component of Therapeutic Services?
Options:

, w Diagnosis

- u Chief complaint

= o Treatment

4 u -Allergies

Question Number : 47 Question Id : 3210112172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 48 Question Id : 3210112173 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a Hospital Information System. which of the following is a component of Diagnostic Services?
Options:

1 # Treatment

o u Allergies

- u Chief complaint

4 « X-rays and CT scan

Question Number : 48 Question Id : 3210112173 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HEIATS HI Fomer A, fAFefET # Fi-a1 Agrias fant # o uew g2

Options:

E@Hﬁﬁ-‘d’-ﬂ?

Z W

4o TFE-Y HT @A =

Question Number : 49 Question Id : 3210112174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Who among the following Hospital Information System members plays an important role in dealing with database
management?

Options:

, = Receptionist

Manager
Application Specialist

4 « 1T Administrator

Question Number : 49 Question Id : 3210112174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 50 Question Id : 3210112175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The process of improving the patient outcomes, health care needs, data management and reimbursement of a patient is
known as:

Options:

, w Picture Archiving Communication System

- % Clinical Documentation Index
= % Clinical Documentation Information

4 « Clinical Documentation Improvement

Question Number : 50 Question Id : 3210112175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 51 Question Id : 3210112176 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With reference to Medical Information Systems. what is the correct full form of DICOM?

Options:
, w Direct Imaging and Communications in Medicine

5 o Digital Imaging and Communications in Medicine

- » Digital Information and Communications in Medicine

4 % Direct Information and Communications in Medicine

Question Number : 51 Question Id : 3210112176 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 52 Question Id : 3210112177 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With reference to medical imaging, what is the correct full form of PET?

Options:

|« Positron Emission Tomography

- % Proton Emission Tomography
- u Positron Excision Tomography

, % Protein Emission Technology

Question Number : 52 Question Id : 3210112177 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 53 Question Id : 3210112178 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following imaging systems is used to examine the breast in a patient with breast cancer?

Options:

, % Sialogram

5 % Renogram
= % MRI

4 Mammogram



Question Number : 53 Question Id : 3210112178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 54 Question Id : 3210112179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following interdisciplinary areas deals with the application of computer technology for studying biological

information?
Options:
1 % DBio-ethics

- % Bilocommunications
= « Bioinformatics

4 % Euthenics

Question Number : 54 Question Id : 3210112179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 55 Question Id : 3210112180 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following scientists discovered X-rays in the year 18957

Options:
, w DBecquerel

- % Rutherford

5  Roentgen

4 % Curie

Question Number : 55 Question Id : 3210112180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 56 Question Id : 3210112181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following medical imaging techniques can be used to diagnose the diseases of human brain?

Options:
1 ® PET scan

g a-ray



Question Number : 56 Question Id : 3210112181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 57 Question Id : 3210112182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Electromyography is used to study the electrical activity of which of the following?

Options:
1 % Brain

-~ % Heart
= % DBones

4 « Muscles

Question Number : 57 Question Id : 3210112182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 58 Question Id : 3210112183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a tumour of cartilage?
Options:

1 % Trachoma

> « Chondroma
= % Osteoma

, = Rhabdomyoma

Question Number : 58 Question Id : 3210112183 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 59 Question Id : 3210112184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The study of normal functioning of the human body is known as:
Options:

| % Anatomy

- % Biochemistry

- » DBiology

4 « Physiology

Question Number : 59 Question Id : 3210112184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 60 Question Id : 3210112185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The blood glucose levels are elevated in which of the following metabolic disorders?

Options:
1 + Diabetes mellitus

> % Hypertension

=z % Renal failure

4 % Aldosteronism

Question Number : 60 Question Id : 3210112185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 61 Question Id : 3210112186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 61 Question Id : 3210112186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following are known as biocatalysts?

Options:
1 % Hormones

o  ENZymes
% % Vitamins

4 % Minerals

Question Number : 62 Question Id : 3210112187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The study of drugs and their mechanism of action, adverse effects and uses is known as:
Options:

, w Pharmacy

5 % Medicinal Chemistry

-  Pharmacology

4 % Biochemistry

Question Number : 62 Question Id : 3210112187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 63 Question Id : 3210112188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With reference to the legal aspects of medical records, what is the correct full form of MLC?

Options:
, « Medico-Legal Causes

> % Medico-Loyal Cases

- u Medico-Legal Cooperation

4 Medico-Legal Corporation

Question Number : 63 Question Id : 3210112188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 64 Question Id : 3210112189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is INCORRECT regarding medical records in view of medical privacy?

Options:
, w» Medical records should be kept confidential.

> % Medical records should be discussed with the patient.

-  Medical records can be circulated to anyone.

4 ® Medical records should be stored even after the discharge of the patient,

Question Number : 64 Question Id : 3210112189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 65 Question Id : 3210112190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Before a doctor attempts a medical intervention in the body of a patient, the doctor seeks the permission of the patient to

do so. This approval is known as:
Options:
1 + informed consent

5 w iriage
= % internal consent

4 % permission grant

Question Number : 65 Question Id : 3210112190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 66 Question Id : 3210112191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Informed consent is an essential component of which of the following?

Options:
. = Iriage

> « Medical ethics

- w Imaging technology

4 % Medical intervention

Question Number : 66 Question Id : 3210112191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 67 Question Id : 3210112192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



For which of the following is informed consent NOT required?
Options:
1 % Medical intervention

- u Surgical intervention

% % Clinical trials

4 « Case history recording

Question Number : 67 Question Id : 3210112192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 68 Question Id : 3210112193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A 25-year-old woman had to face an inevitable abortion. Before doing so, the surgeon should first take the consent of:
Options:

, w the mother of the patient

- u the husband of the patient

5 o the patient herself

4 B the father of the patient

Question Number : 68 Question Id : 3210112193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 69 Question Id : 3210112194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In medical ethics, the patient’s right to accept or decline the treatment is known as:
Options:

1 ¥ autonomy

> % beneficence

- » confidentiality

4 % Justice

Question Number : 69 Question Id : 3210112194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 70 Question Id : 3210112195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The Government of India conducts hospital censuses and surveys under the ministry of:

Options:
1 % Medical Education

5 % Women Empowerment

- + Health and Family Welfare

4, = Hospital Administration

Question Number : 70 Question Id : 3210112195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 71 Question Id : 3210112196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The reproductive capacity of a set of population can be best assessed by:
Options:

, w the case fatality rate

> u the natality rate

5 o the total fertility rate

, w the maternal mortality rate

Question Number : 71 Question Id : 3210112196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 72 Question Id : 3210112197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ASHA workers were introduced by the Government of India as a part of which of the following schemes?

Options:
1 % National Urban Health Mission
- « National Rural Health Mission

= % Mission Indradhanush

Swachh Bharat Mission

ok
®

Question Number : 72 Question Id : 3210112197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 73 Question Id : 3210112198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following vears did the Government of India launch the National Rural Health Mission?

Options:



Question Number : 73 Question Id : 3210112198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 2005
- % 2006
- % 2010

. & 2015

Question Number : 74 Question Id : 3210112199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the correct full form of ASHA?
Options:

1 % Accredited Social Health Assistant

- « Accredited Social Health Activist

- u Accredited Social Health Analyst

4 % Accredited Social Health Awareness

Question Number : 74 Question Id : 3210112199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 75 Question Id : 3210112200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where are the headquarters of the WHO located?

Options:
1 % New York

- % London
= o Geneva

4 % Paris

Question Number : 75 Question Id : 3210112200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SEeg, UE.3T. & HEATed Hal eud 87

Options:

Question Number : 76 Question Id : 3210112201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a population, the infant mortality rate is usually expressed per how many live births?

Options:
;% 100000



> % 10000
3 « 1000

4 % 100

Question Number : 76 Question Id : 3210112201 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
v HETEr H, ) gy &Y wwak W gfe e sifdasent & weur saea @ e g2

Options:

. = 100000

. = 10000
2 « 1000

, = 100

Question Number : 77 Question Id : 3210112202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The rate of measurement of deaths of children under 5 years of age is known as:

Options:
, = Infant mortality rate

> % maternal mortality

- » case fatality rate

4 w Child mortality rate

Question Number : 77 Question Id : 3210112202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

5 I ¥ FH AT & Foal & Hcg A $T &7 [hd TR AT S e g7
Options:
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Question Number : 78 Question Id : 3210112203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following medical codes is used to measure the morbidity and mortality of a disease?

Options:
, « Diagnostic codes

- % Procedural codes

- % Therapeutic codes

4 = Topographic codes

Question Number : 78 Question Id : 3210112203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 79 Question Id : 3210112204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following codes is used to determine the diseases and their symptoms?
Options:

, w Topographic codes



» % Procedural codes

-  Diagnostic codes

4 % Therapeutic codes

Question Number : 79 Question Id : 3210112204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
farafof@e 7 o g == & 3uger faEfiEt 3R 39 Jeot & FuiE =9 & T B s 2

Options:
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Question Number : 80 Question Id : 3210112205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following medical codes is used in identifying the medical interventions done by a physician?

Options:
, w Therapeutic codes

> « Procedural codes

- » Diagnostic codes

4 = Topographic codes

Question Number : 80 Question Id : 3210112205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 81 Question Id : 3210112206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Pharmaceutical codes are used to identify which of the following?
Options:

1 % Medical interventions

> w Symptoms of a disease

i Drugs and medications

, = Aetiology of a disease

Question Number : 81 Question Id : 3210112206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 82 Question Id : 3210112207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following medical codes is used to locate an anatomical site in the body?
Options:

, + Topographic codes



» % Procedural codes
% % Anatomical codes

, % Therapeutic codes

Question Number : 82 Question Id : 3210112207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| v #imEE FE
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Question Number : 83 Question Id : 3210112208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a list/system of diagnostic codes?

Options:
1« ICD-9

> % ICPM
ST AT

4 8 QT

Question Number : 83 Question Id : 3210112208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TRT # ¥ Fi9-31 Adias Fs/foee &1 T 35T 22
Options:

, ¢ ICD-9

. & ICPM



Question Number : 84 Question Id : 3210112209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a list/system of procedural codes?

Options:
; & ICD-9

5 « ICPM
= W AT

g4 % QT

Question Number : 84 Question Id : 3210112209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tafef@a # ¥ #i9-ar 9aca+ Oree/ Jomer #T UF 3807 87
Options:

. % ICD-9

- v ICPM

Question Number : 85 Question Id : 3210112210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With reference to medical coding, what is the correct full form of ICSD?

Options:

i International Classification of Sleep Disorders

» % International Classification of Somatic Disorders

- » International Classification Sustainable Development



4 % International Classification Sexual Diseases

Question Number : 85 Question Id : 3210112210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT FET & T H, ICSD FT FE 0T T FT &7

Options:

| v STAUS FATATHRA H(B Fod SHSH
, » STIAT FANAGHAUA 3 AACH BAEEH
. % SEUAS FANA A TEEATH SAATHE

e ST FAH e ARl 3

Question Number : 86 Question Id : 3210112211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the most widely accepted disease classification system by the WHO?

Options:
1« ICD

5 % TUCD
s % ICU

4 % ICS

Question Number : 86 Question Id : 3210112211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Seoguas! garT el & ¥ wia-8 98 s 9 § T&igpd AT FEieor Jotelr 872

Options:

| WEBE

, » FRZAI

. HEAT,



, « FEHELTH.

Question Number : 87 Question Id : 3210112212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In medical records, the numbering system in which all the data of a patient is kept together in a single folder is known

ds.
Options:
, w Serial Numbering System

- o Unit Numbering System

- % Even Numbering System

4 = OddNumbering System

Question Number : 87 Question Id : 3210112212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Az ey #, 98 3F JUTel o UF AT & T2 227 & U UFd Fesd § T A1 Q&7 A1
30 =Rl & & B veR & ST ST 22

Options:
% THE TEIT YOl

o » TR HEAT JUTEr
5 % TH G&IT JOmelr

4 % TOSH TEET YUl

Question Number : 88 Question Id : 3210112213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In medical records, the numbering svstem in which the patient is assigned a new serial number each time the patient
visits the hospital is known as:
Options:
, % NewNumbering System

- % Even Numbering System



- o Serial Numbering System

4 # OddNumbering System

Question Number : 88 Question Id : 3210112213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, % STalel 37hel YU

- % TH 3F JUMeT
5 o TH Hed JOTE

4 % T9YH 3o JOTelr

Question Number : 89 Question Id : 3210112214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

While handling medical records, after taking the census report, all the discharged case records should be submitted to:
Options:

|« Assembly and Deficiency Check Desk

- » Assembly and Adequate Check Desk

z % HR Check Desk

4 % Front Office Check Desk

Question Number : 89 Question Id : 3210112214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AfeTe e &1 99U g §HY, S0 9 o & 91€, g8 e fhe v 75 e Far
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Options:
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4 %

Question Number : 90 Question Id : 3210112215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following is NOT a member of a Medical Records Committee?

Options:
, w» Medical Superintendent

- % Administrator
5  Receptionist

4 % HOD

Question Number : 90 Question Id : 3210112215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T=faf@a 7 @ w7 afEtsa e afafE & e 78 22
Options:

, » FEAfecar e

o W S2MHH

4 % TISTITETET

Question Number : 91 Question Id : 3210112216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The indexing of medical records is done after which of the following steps?
Options:

| % Computer entry



5 w Scanning

- » Permanent filing

4 « Deficiency check and coding

Question Number : 91 Question Id : 3210112216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 92 Question Id : 3210112217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
MLC #t#ell & Hest H, ARR & Wer q07 & 41 &7

Options:

1. o TFgEe oweT e
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4 % 3

Question Number : 92 Question Id : 3210112217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With reference to MLC cases. what is the correct full form of ARR?

Options:



.« Accident Register Report
> % Accident Reason Report

- % Accurate Register Report

, % Actual Reason Report

Question Number : 93 Question Id : 3210112218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following versions of the ICD was the first to report morbidity?

Options:
; & ICD-9

5> « ICD-6
s % ICPM

4 ® AT

Question Number : 93 Question Id : 3210112218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ICD & =@ &R & ¥ Ue1 i G g arel Tgell TERUT Hia-a1 oar?

Options:

. % ICD-9

. » ICD-6
- = ICPM

Question Number : 94 Question Id : 3210112219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Where is the International Statistical Institute for Diseases located?
Options:

1 % London



- % Geneva
= % New York

4 Chicago

Question Number : 94 Question Id : 3210112219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T F BT FRTET FIETRT 980 Fal 2 27
Options:

1. ®& oG

Question Number : 95 Question Id : 3210112220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who is considered as the father of Computers?

Options:
, « Charles Babbage

> % Seymour Papert

= % Albert Einstein

4 % Isaac Newton

Question Number : 95 Question Id : 3210112220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FFYLT FT FAF [F8 AT ST 87

Options:

1. ey a9
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Question Number : 96 Question Id : 3210112221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With reference to computer systems. what is the correct full form of CPU?

Options:
, w Central Protecting Unit

o  Central Processing Unit

- w Core Processing Unit

4, = Core Protecting Unit

Question Number : 96 Question Id : 3210112221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fegey FHFeH & "eo H, CPU & o7 & 41 872

Options:

T SRR e
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. PR SRR e

, » PR TFT e

Question Number : 97 Question Id : 3210112222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With reference to computers. what is the correct full form of RAM?

Options:



LR Read Access Memory

- % Random Available Memory

- » Read Available Memory

s Random Access Memory

Question Number : 97 Question Id : 3210112222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
+ 4+ ﬁ
HFLE &+ ey &, RAM & T F &7

Options:

4in§ﬁmm

Question Number : 98 Question Id : 3210112223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With reference to computers. what is the correct full form of ROM?

Options:
, » Random Only Memory

-  Read Only Memory

- % Random Often Memory

, » Read Often Memory

Question Number : 98 Question Id : 3210112223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FIeT & T H, ROM &1 90T & &7 g2

Options:
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Question Number : 99 Question Id : 3210112224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In computers, the Integrated Circuits (ICs) are made up of which of the following elements?

Options:
1 % Iron

5 % Copper
3 « Silicon

4, = Graphite

Question Number : 99 Question Id : 3210112224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FoIeT #H, EEEIeE Fiere (ICs) Feafof@a # ¥ 59 95 & a1 29 &7

Options:

1.533'?"
> % omEr
- Tafeerra
L % THIEC

Question Number : 100 Question Id : 3210112225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following carries out arithmetic and logical operations in a computer svstem?

Options:



i ® CPU
> % RAM
5 o ALU

4 % ROM

Question Number : 100 Question Id : 3210112225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FFEGH U # fFAfef@a § @ ode vF aifde 9o SiF AT 27

Options:

. % CPU

., &« RAM
2« ALU

. = ROM

eneral Aptitude

Section Id : 32101136
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questionsto be attempted: 25
Section Marks: 25
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 32101170
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 3210112226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which vessels carry carbon dioxide rich blood from all parts of the body back to the heart?

Options:



» Capillaries

> o Veins

w Artery

4 % Ventricles

Question Number : 101 Question Id : 3210112226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fd ¥ TF WR & Tl 07T § FEa SEHFEEs god & F T8d a6 o A 82

Options:

| % ShIRTT

. » fomme
gﬁm

4&%@

Question Number : 102 Question Id : 3210112227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The urine consists of urea.
Options:

3= * J.':E*f:l

oow 5%

Question Number : 102 Question Id : 3210112227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
= giar g gl
Options:

1 ® 1%



o R 5%
=W 25%

g4 ® 3%

Question Number : 103 Question Id : 3210112228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who won the 2018 men’s Ballon d’Or Award?
Options:

1 % Mohamed Saleh

- % Cristiano Ronaldo
= % Lionel Messi

4 « Luka Modric

Question Number : 103 Question 1d : 3210112228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Y Sl B3 WERR, 2018 frma Shar?

Options:

1 ® mm
, u TRTEeOTAl UaATear

5 » Tordierer AEAT

CEIRIECD

4 9 2

Question Number : 104 Question 1d : 3210112229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:



Question Number : 104 Question Id : 3210112229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When is “International Day of Yoga™?

Options:
1« 21 June

21 July
. % 22May

22 April

Question Number : 105 Question Id : 3210112230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
NITI Aayog was formed in the vear:

Options:
;& 2014

> % 2013
5 % 2016

4 o 2015

Question Number : 105 Question Id : 3210112230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A HTORT & 9187 99 & &rar 1ar o
Options:

% 2014

., & 2013



2 & 2016

4 20’15

Sub-Section Number: 2
Sub-Section Id: 32101171
Question Shuffling Allowed : Yes

Question Number : 106 Question Id ;: 3210112231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word from the alternatives which has analogous relation to the given words:

Adrenal, pituitary, Thyroid, ?
Options:
1 «# Pancreas

- % Liver

5 % Lungs

g4 #® Heart

Question Number : 106 Question Id : 3210112231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| v I
. ER

o ® q;q;g

4_%&%@

Question Number : 107 Question Id : 3210112232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



If certain code language MEDICINE is the coded as ‘EMIDICEN’, then what would be the code for ‘BHOPAL' in that
code language?

Options:
i « HBPOLA

> % HBLCGA
= % POBAGC

4 % AOCESU

Question Number : 107 Question Id : 3210112232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I T 1T 9T # MEDICINE #F 'EMIDICEN' S s H #2g Brar Sar &, af, 39 F:i5 9w &
'BHOPAL' ST #IT FIT grem?
Options:

. » HBPOLA
., « HBLCGA
- « POBAGC

. = AOCESU

Question Number : 108 Question Id : 3210112233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sanjana is sister of Richa. How is Richa’s father’s mother’s daughter related to Sanjana?
Options:

1 % Sister

- % Cousin
3 « Paternal Aunt

4 % Mother

Question Number : 108 Question Id : 3210112233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 109 Question Id : 3210112234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many squares are there in the following figure?

|

11
4
Options:

1 % 12
2 o 15
o W 17

I 19

Question Number : 109 Question Id : 3210112234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 110 Question Id : 3210112235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following Venn diagram shows information about number of persons who like different types of Chocolates
produced by company ZXYX during a survey in the school LMN

What is the ratio of number of students who like chocolates of type C only to Type A and B but not C?

Options:
1. ® 43

2.,.-"—’1-].

4 ® 1:4

Question Number : 110 Question Id : 3210112235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 111 Question Id : 3210112236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Study the following figure carefully. There is an analogous relation between the first and second pairs. Choose the

missing figures (I and IT) from the alternatives such that they form pairs

2, ¥ o §F oo
BAY 4 0y T
Options:
/’\ N
ﬁ\ e
1 % | I
Y |
Q s
o ® | I
@ LR
£ | ~<~F
= of | I
R
= |~
4 % | I

Question Number : 111 Question Id : 3210112236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 112 Question Id : 3210112237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What would be the missing term in the following series?

3. 6.24, 144, 1152, 2, 138240
Options:

| % 34560

5 % 69120

s o 11520



Question Number : 112 Question Id : 3210112237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

frafafea gaer & gea =g 719 FH

3, 6, 24, 144, 1152,?, 138240
Options:

| % 34560
., = 69120
2 v 11520

. = 17280

Question Number : 113 Question 1d : 3210112238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the value of x, where x is a positive integer.

x‘ cy

=16

13

x—

Options:

I

=

1, * 5

2
E
[ ]
Lh
{ o]

S5
b
2
Lh
R

Question Number : 113 Question Id : 3210112238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafoiT T & 3R W X # AT A1 AT, @ K UACHE OIS g

VxZ-—a

=16

Vx—2
Options:

, % 250



. % 252
. = 256

4 254

Question Number : 114 Question Id : 3210112239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If BO = 30. EBO = 150, then CBO will be equal to:

Options:

o R 60
= % 100

4 % 120

Question Number : 114 Question 1d : 3210112239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e BO = 30, EBO = 150 g, aF CBO & sUsT gem;

Options:

1 90‘
- = 100

4 % 120

Question Number : 115 Question Id : 3210112240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If $ stands for — . (@ stands for —, * stands for *, % stands for +,
then what would be the result of the following expression
‘16*3848%8(@5?
Options:
1 ® 48

> o 49



Question Number : 115 Question Id : 3210112240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

afE §, + F AT FaT &, G @, — F ARG FaT B, +, x F AT war g Hw %, + F+
eiT w2 g, ar Bl o= 1 9fums =21 gem?

16+3%48%8@5

Options:

oo 49

Sub-Section Number : 3
Sub-Section I1d: 32101172
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 3210112241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ABiIRCgmansdm o i st s M AR B 12 AT & B 3k C 15 =t & 3R
C3R A2 RATF FT ga &, I7 B 35er 38T &0 & g 9T § 7 91 7

Options:

z v 20 fee

Question Number : 116 Question Id : 3210112241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



There are three persons denoted by A, B and C. A and B can do a piece of work in 12 days. B and C in 15 days, and C
and A in 20 days. Then how many days B alone can do the same work?

Options:
, = 30days

25 days
5 o 20.days

60 days

Question Number : 117 Question Id : 3210112242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 2x + 3y = 5 and xy = 1/18. then 8x? +27y3 equals:

Options:
1 % 110

> B o0

Question Number : 117 Question Id : 3210112242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
afy 2x + 3y = 5 3T xy = 1/18, 4 8x° +27y® ST &

Options:

. % 110
= % 130

4 120

Question Number : 118 Question Id : 3210112243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ABC i1s an equilateral triangle of side 8 cm. Then the length of each altitude 1s:

Options:



1 ® 2./3 cm
5 o 4./3 em
z ® 3./2 cm

4 % 3.3 cm

Question Number : 118 Question Id : 3210112243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ABC, 8 cm S[=fT 7ol Us HHEG EEE] g o 9% o9 T TEE &
Options:

1 % 24/3 cm

5 of 4+/3 cm
= ® 3y’§cm

4% Bvﬁcm

Question Number : 119 Question Id : 3210112244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T HET F 0T 10 em # HR 7 S st A @ Bl vw fr Ew @ geEm # & s
T &

Options:

25
—cm?

V3

—
#

> % 20v3cm?
2 ® 25 cm?

4 « 25v3 cm?

Question Number : 119 Question Id ;: 3210112244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The diagonal of a rectangle is 10 cm and it is twice the length of one of the sides. Then the area of the rectangle is:



Options:

25
— cm?

1 ® ‘V{’E
5 % 203 am?
= # 25cm?

i« 253 am?

Question Number : 120 Question Id : 3210112245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The volume of a right circular cylinder whose curved surface area is 2640 em® and circumference of its base is 66 cm,
is:

Options:

1 « 13860 cm?

> ® 7720 em?®
% # 3465 cm?

4 % 15440 cm?®

Question Number : 120 Question Id : 3210112245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3@ FEcAIT AU # AT A9 HfSw, SEEr T g9 # a6 2640 cm® 3t zEF amw
&I g 66 cm &

Options:

.« 13860 cm?
- % 7720 cm®
5 % 3465 cm?3

4 = 15440 em?3

Question Number : 121 Question Id : 3210112246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



50 square stone slabs of equal size were required to cover a floor area of 98 sq. m. Then the length of each stone slab is:
Options:
1 ® 130cm

> % 120 cm
= o 140 cm

4 ® 125 cm

Question Number : 121 Question Id : 3210112246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

98 T HAer Fr v TN F SUGAT F TS F T FHEA HFR F 50 TER TR F T H
mmgﬁia’rmwﬁzﬂaﬁm%

Options:

1 % 130 cm

- # 120 cm
z « 140 cm

4.8 T29 Em

Question Number : 122 Question Id : 3210112247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two of the side faces of a pyramid are equilateral triangles and the other two side faces are right angled triangles. If
length of each side of the equilateral triangles is 6 m, then the volume of the pyramid is:

Options:
. % 183 m3

5 & 3632m?
5 % 604/2m?

4 % 24V3m?

Question Number : 122 Question 1d : 3210112247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



v e & & and wow wHey e § ek e & and wew wEer e €1 ofe wwey B
HT ThUF AT HT FAS 6 AL g, o BRITAS F HEAA ¢

Options:
, % 183 m3
5 36/2m?

5 % 60V2m?

4 % 2443m?

Question Number : 123 Question Id : 3210112248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2sin o COS0
— =x, ar =% gy ¢
1+cosa+sinm 1+smmo
Options:
1 ® 1 + X
T ® X
41— x

Question Number : 123 Question Id : 3210112248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0.25

Zsin o cos o
If g Al SRR
1+ cosol+sin o 1+ s o

Options:
1 ® 1+x

equals:

o ® 1/x
z # X

g4 ¢ 1-X

Question Number : 124 Question Id : 3210112249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



vw 9 #ieX 7 $ARE & ¥ ., vE Tl F A @ Fe=aa Hor 60° 7 IR sHH g g @ Eead
FIOT 45° F| G TR Fr FEE B

Options:

o B Eix@m
- v I(V3+1)m

4@39m

Question Number : 124 Question Id : 3210112249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the top of a 9 m high building. the angle of elevation of the top of a tower is 60 ° and the angle of depression of its

foot is 45° . Then the height of the tower is
Options:

Question Number : 125 Question Id : 3210112250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The area of the Polygon is:

Options:

, w notequal to the area of the Histogram

> % equal to the area of the Frequency Curve

- % equal to the area of the Ogive

4 « equal to the area of the Histogram

Question Number : 125 Question Id : 3210112250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
g T &% 2T &

Options:

|« ETEETE F S we & se% T8
, » HHEfcd TF F &6 F TN
. « HISTET F 6 F I

. v BERIA F &% & e



